(01Z2E[C @»pp ECO HEF1 K H-Model Linear Guides

EGH, EGH-L series qeq@ (0ZAR

NN N L
w EGH : RBVH—Fa1T =
e | A~M X 1 EGH-L : QY5 44T 2 |
'<—>
i [ @ 44 r—»\ @)} O J';. J';. O 1
] ] l l kiii‘
H T BETTTYe T TE= =
T h dd i =<
L ! [l
Hol| To T | P .
G | nXxP \ (@)
Lomax
Mx My Mz
VS
(Rl T
# ! EGH, MEGH, EGH-L, MEGH-L/ ) —X<Fi%%k
# Ei A~ N 7 9y ry 7 o r - v DS TN = A=y TNV | EAREEWE | HOFEE— X (XTY 7| L=
C Co Mx My Mz B i
@ e Rl (F 45 B | H |Ho| To | W | L | w | ¢ | La| F |Mx@|T|h/|P G DxdXf |Lomax| BUJ/X | t2 N | &N) | (kN) [kN'm)[(kN'm)[(kN'm)| (kg) | (kg/m)
EGH15 MEGH15 28 | 3.3 9.5 | 34 58.6 | 26 26 | 40.2 | 24.7 | M4x6 | 15 |13 60 20 7.5X4.5%55 | 4000 | M4x0.7 9.5 (6) 9.94 | 14.46| 0.07 | 0.05 | 0.05 0.19 1.28
EGH20 MEGH20 70.1 36 | 485 1544 | 2131] 022 | 018 | 018 | 0231 215
. . X6. . bHX X 8. X .
AT T | 8 | 4 ool 32 e 255 | M5%65 | 20 163 60 20 95%6 X85 | 4000 | M6x1 71| U3 e T 33T 036 Toze Toze T oe S 1E
EGH25 MEGH25 79.2 35 | 575 2127 | 2951 035 | 031 | 030 | 045 2.88
. . . X . X X X .
EGH25L | MEGH25L | %0 | 58 | 125 | 48 |1oael 35 o5 1geq | 342 | M6X9 | 23 [192] 60 20 | 11 X7 X9 | 4000 | M6X1 | 142 | (13) [ to— 2t o S e 588
EGH30 MEGH30 94.8 40 | 678 31.38 | 4249 059 | 049 | 048 | 0091 4.45
X . X X X
TR e | ? 16 60 o] 40 o5 Tio3g| 38 | M8x12 | 28 | 228 80 20 | 14 x9 x12 | 4000 | M6x1 | 13 12 =T es7eToss T 112 110 | 138 VS
EGH35 MEGH35 1115 50 | 80.5 4360 | 57.83| 094 | 074 | 0.72 | 150 6.25
. . X X X X .
EGH35L | MEGH3sL | %5 | 7° | 18 0 H5el 50 oy t,,e] 475 | Mex12 | 34 |26 | 80 20 | 14 X9 x12 | 4000 | M6X1 | 185 | (12) ottt e T 1ea | 234 c ot
EGH45 MEGH45 129.0 60 | 94 5798 | 7556 2.12 | 167 | 1.65 | 2.26 9.60
. . . X . . X X X1. .

EGHASL | MEGHasL | 70 | 89 | 205 | 86 5551 60 gy | 611 [MI0X18| 45 | 3L1| 105 225| 20 X14X17 | 4000 |M8X125| 244 | (11) (—o = oo 560
F EEL-IERZX BT : mm
x| i 12 — v & = L —

1(|)0 5(|)0 10|00 15|00 20‘00 25|00 30|00 35|00 40|00 HREX
EGH15 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960 12080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3830 4000
4000
MEGH15 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900 2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
EGH20 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960 /2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
4000
MEGH20 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900 2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
EGH25 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900 20202140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
4000
MEGH25 ' 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960 12080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
EGH30 280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
MEGH30 B e e S N B e s e e e S S B e e e e — tttttt t 4000
360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
EGH35 20 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
4000
MEGH35 ' 360 520 680 840 1000 1160 1320 1480 1640 1800 1960 ' 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
EGH45 570 780 990 1200 1410 1620 1830 2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
MEGH45 t f t t t f t f t t t f t t t t t t t f t f t t t t t f t } } } — 4000
675 885 1095 1305 1515 1725 1935 2145 2355 2565 2775 2985 3195 3405 3615 3825 4000
* [FEENIE . X7, L—ILIZREERIODLNEBERELTEYET.
EEES | EGH25 —CG —2 X%X1300
B & Lb—}bﬁé(Lo) N
o XI/—JM?I:I:EMTZV\'?U‘/aﬁ
—[E4E F -
| s 2g#5)—X || HG | =mmiU—RX |
CG sy—5)—R || FG | BRII—R |
242 VG BEJU—R [T U—RDMERPISE 243




